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What	is	the	Break-Even	Analysis	Formula?The	formula	for	break-even	analysis	is	as	follows:Break-Even	Quantity	=	Fixed	Costs	/	(Sales	Price	per	Unit	Variable	Cost	Per	Unit)where:Fixed	Costs	are	costs	that	do	not	change	with	varying	output	(e.g.,	salary,	rent,	building	machinery)Sales	Price	per	Unit	is	the	selling	price	per	unitVariable	Cost	per	Unit	is
the	variable	cost	incurred	to	create	a	unitIt	is	also	helpful	to	note	that	the	sales	price	per	unit	minus	variable	cost	per	unit	is	the	contribution	margin	per	unit.	For	example,	if	a	books	selling	price	is	$100	and	its	variable	costs	are	$5	to	make	the	book,	$95	is	the	contribution	margin	per	unit	and	contributes	to	offsetting	the	fixed	costs.Break-Even
Analysis	ExampleColin	is	the	managerial	accountant	in	charge	of	Company	A,	which	sells	water	bottles.	He	previously	determined	that	the	fixed	costs	of	Company	A	consist	of	property	taxes,	a	lease,	and	executive	salaries,	which	add	up	to	$100,000.	The	variable	cost	associated	with	producing	one	water	bottle	is	$2	per	unit.	The	water	bottle	is	sold	at
a	premium	price	of	$12.	To	determine	the	break-even	point	of	Company	As	premium	water	bottle:Break	Even	Quantity	=	$100,000	/	($12	$2)	=	10,000Therefore,	given	the	fixed	costs,	variable	costs,	and	selling	price	of	the	water	bottles,	Company	A	would	need	to	sell	10,000	units	of	water	bottles	to	break	even.For	more	information	about	variable
costs,	check	out	the	following	video:	The	graphical	representation	of	unit	sales	and	dollar	sales	needed	to	break	even	is	referred	to	as	the	break-even	chart	or	cost-volume-profit	(CVP)	graph.	Below	is	the	CVP	graph	of	the	example	above:Explanation:The	number	of	units	is	on	the	X-axis	(horizontal)	and	the	dollar	amount	is	on	the	Y-axis	(vertical).The
red	line	represents	the	total	fixed	costs	of	$100,000.The	blue	line	represents	revenue	per	unit	sold.	For	example,	selling	10,000	units	would	generate	10,000	x	$12	=	$120,000	in	revenue.The	yellow	line	represents	total	costs	(fixed	and	variable	costs).	For	example,	if	the	company	sells	0	units,	then	the	company	would	incur	$0	in	variable	costs	but
$100,000	in	fixed	costs	for	total	costs	of	$100,000.	If	the	company	sells	10,000	units,	the	company	would	incur	10,000	x	$2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs	for	total	costs	of	$120,000.The	break	even	point	is	at	10,000	units.	At	this	point,	revenue	would	be	10,000	x	$12	=	$120,000	and	costs	would	be	10,000	x	2	=	$20,000	in
variable	costs	and	$100,000	in	fixed	costs.When	the	number	of	units	exceeds	10,000,	the	company	would	be	making	a	profit	on	the	units	sold.	Note	that	the	blue	revenue	line	is	greater	than	the	yellow	total	costs	line	after	10,000	units	are	produced.	Likewise,	if	the	number	of	units	is	below	10,000,	the	company	would	be	incurring	a	loss.	From	0-9,999
units,	the	total	costs	line	is	above	the	revenue	line.Free	Cost-Volume-Profit	Analysis	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!Download	the	Free	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!	As	illustrated	in	the	graph	above,	the	point	at	which	total
fixed	and	variable	costs	are	equal	to	total	revenues	is	known	as	the	break-even	point.	At	the	break-even	point,	a	business	does	not	make	a	profit	or	loss.	Therefore,	the	break-even	point	is	often	referred	to	as	the	no-profit	or	no-loss	point.The	break-even	analysis	is	important	to	business	owners	and	managers	in	determining	how	many	units	(or
revenues)	are	needed	to	cover	fixed	and	variable	expenses	of	the	business.Therefore,	the	concept	of	break-even	point	is	as	follows:Profit	when	Revenue	>	Total	Variable	Cost	+	Total	Fixed	CostBreak-even	point	when	Revenue	=	Total	Variable	Cost	+	Total	Fixed	CostLoss	when	Revenue	<	Total	Variable	Cost	+	Total	Fixed	CostSensitivity
AnalysisBreak-even	analysis	is	often	a	component	of	sensitivity	analysis	and	scenario	analysis	performed	in	financial	modeling.	Using	Goal	Seek	in	Excel,	an	analyst	can	backsolvehow	many	units	need	to	be	sold,	at	what	price,	and	at	what	costto	break	even.Factors	that	Increase	a	Companys	Break-Even	PointIt	is	important	to	calculate	a	companys
break-even	point	in	order	to	know	the	minimum	target	to	cover	production	expenses.	However,	there	are	times	when	the	break-even	point	increases	or	decreases,	depending	on	certain	of	the	following	factors:1.	Increase	in	customer	salesWhen	there	is	an	increase	in	customer	sales,	it	means	that	there	is	higher	demand.	A	company	then	needs	to
produce	more	of	its	products	to	meet	this	new	demand	which,	in	turn,	raises	the	break-even	point	in	order	to	cover	the	extra	expenses.2.	Increase	in	production	costsThe	hard	part	of	running	a	business	is	when	customer	sales	or	product	demand	remains	the	same	while	the	price	of	variable	costs	increases,	such	as	the	price	of	raw	materials.	When
that	happens,	the	break-even	point	also	goes	up	because	of	the	additional	expense.	Aside	from	production	costs,	other	costs	that	may	increase	include	rent	for	a	warehouse,	increases	in	salaries	for	employees,	or	higher	utility	rates.3.	Equipment	repairIn	cases	where	the	production	line	falters,	or	a	part	of	the	assembly	line	breaks	down,	the	break-
even	point	increases	since	the	target	number	of	units	is	not	produced	within	the	desired	time	frame.	Equipment	failures	also	mean	higher	operational	costs	and,	therefore,	a	higher	break-even.How	to	reduce	the	break-even	pointIn	order	for	a	business	to	generate	higher	profits,	the	break-even	point	must	be	lowered.	Here	are	common	ways	of
reducing	it:1.	Raise	product	pricesThis	is	something	that	not	all	business	owners	want	to	do	without	hesitation,	fearful	that	it	may	make	them	lose	some	customers.2.	OutsourcingProfitability	may	be	increased	when	a	business	opts	foroutsourcing,	which	can	help	reduce	manufacturing	costs	when	production	volume	increases.Every	company	is	in
business	to	make	some	type	of	profit.	However,	understanding	the	break-even	number	of	units	is	critical	because	it	enables	a	company	to	determine	the	number	of	units	it	needs	to	sell	to	cover	all	of	the	expenses	its	accrued	during	the	process	of	creating	and	selling	goods	or	services.Once	the	break-even	number	of	units	is	determined,	the	company
then	knows	what	sales	targetit	needs	to	set	in	order	to	generate	profit	and	reach	the	companys	financial	goals.Additional	ResourcesHow	the	3	Financial	Statements	are	LinkedCost	Behavior	AnalysisAnalysis	of	Financial	StatementsShutdown	PointSee	all	accounting	resources	Share	copy	and	redistribute	the	material	in	any	medium	or	format	for	any
purpose,	even	commercially.	Adapt	remix,	transform,	and	build	upon	the	material	for	any	purpose,	even	commercially.	The	licensor	cannot	revoke	these	freedoms	as	long	as	you	follow	the	license	terms.	Attribution	You	must	give	appropriate	credit	,	provide	a	link	to	the	license,	and	indicate	if	changes	were	made	.	You	may	do	so	in	any	reasonable
manner,	but	not	in	any	way	that	suggests	the	licensor	endorses	you	or	your	use.	ShareAlike	If	you	remix,	transform,	or	build	upon	the	material,	you	must	distribute	your	contributions	under	the	same	license	as	the	original.	No	additional	restrictions	You	may	not	apply	legal	terms	or	technological	measures	that	legally	restrict	others	from	doing
anything	the	license	permits.	You	do	not	have	to	comply	with	the	license	for	elements	of	the	material	in	the	public	domain	or	where	your	use	is	permitted	by	an	applicable	exception	or	limitation	.	No	warranties	are	given.	The	license	may	not	give	you	all	of	the	permissions	necessary	for	your	intended	use.	For	example,	other	rights	such	as	publicity,
privacy,	or	moral	rights	may	limit	how	you	use	the	material.	What	is	the	Break-Even	Analysis	Formula?The	formula	for	break-even	analysis	is	as	follows:Break-Even	Quantity	=	Fixed	Costs	/	(Sales	Price	per	Unit	Variable	Cost	Per	Unit)where:Fixed	Costs	are	costs	that	do	not	change	with	varying	output	(e.g.,	salary,	rent,	building	machinery)Sales	Price
per	Unit	is	the	selling	price	per	unitVariable	Cost	per	Unit	is	the	variable	cost	incurred	to	create	a	unitIt	is	also	helpful	to	note	that	the	sales	price	per	unit	minus	variable	cost	per	unit	is	the	contribution	margin	per	unit.	For	example,	if	a	books	selling	price	is	$100	and	its	variable	costs	are	$5	to	make	the	book,	$95	is	the	contribution	margin	per	unit
and	contributes	to	offsetting	the	fixed	costs.Break-Even	Analysis	ExampleColin	is	the	managerial	accountant	in	charge	of	Company	A,	which	sells	water	bottles.	He	previously	determined	that	the	fixed	costs	of	Company	A	consist	of	property	taxes,	a	lease,	and	executive	salaries,	which	add	up	to	$100,000.	The	variable	cost	associated	with	producing
one	water	bottle	is	$2	per	unit.	The	water	bottle	is	sold	at	a	premium	price	of	$12.	To	determine	the	break-even	point	of	Company	As	premium	water	bottle:Break	Even	Quantity	=	$100,000	/	($12	$2)	=	10,000Therefore,	given	the	fixed	costs,	variable	costs,	and	selling	price	of	the	water	bottles,	Company	A	would	need	to	sell	10,000	units	of	water
bottles	to	break	even.For	more	information	about	variable	costs,	check	out	the	following	video:	The	graphical	representation	of	unit	sales	and	dollar	sales	needed	to	break	even	is	referred	to	as	the	break-even	chart	or	cost-volume-profit	(CVP)	graph.	Below	is	the	CVP	graph	of	the	example	above:Explanation:The	number	of	units	is	on	the	X-axis
(horizontal)	and	the	dollar	amount	is	on	the	Y-axis	(vertical).The	red	line	represents	the	total	fixed	costs	of	$100,000.The	blue	line	represents	revenue	per	unit	sold.	For	example,	selling	10,000	units	would	generate	10,000	x	$12	=	$120,000	in	revenue.The	yellow	line	represents	total	costs	(fixed	and	variable	costs).	For	example,	if	the	company	sells	0
units,	then	the	company	would	incur	$0	in	variable	costs	but	$100,000	in	fixed	costs	for	total	costs	of	$100,000.	If	the	company	sells	10,000	units,	the	company	would	incur	10,000	x	$2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs	for	total	costs	of	$120,000.The	break	even	point	is	at	10,000	units.	At	this	point,	revenue	would	be	10,000	x
$12	=	$120,000	and	costs	would	be	10,000	x	2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs.When	the	number	of	units	exceeds	10,000,	the	company	would	be	making	a	profit	on	the	units	sold.	Note	that	the	blue	revenue	line	is	greater	than	the	yellow	total	costs	line	after	10,000	units	are	produced.	Likewise,	if	the	number	of	units	is	below
10,000,	the	company	would	be	incurring	a	loss.	From	0-9,999	units,	the	total	costs	line	is	above	the	revenue	line.Free	Cost-Volume-Profit	Analysis	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!Download	the	Free	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!
As	illustrated	in	the	graph	above,	the	point	at	which	total	fixed	and	variable	costs	are	equal	to	total	revenues	is	known	as	the	break-even	point.	At	the	break-even	point,	a	business	does	not	make	a	profit	or	loss.	Therefore,	the	break-even	point	is	often	referred	to	as	the	no-profit	or	no-loss	point.The	break-even	analysis	is	important	to	business	owners
and	managers	in	determining	how	many	units	(or	revenues)	are	needed	to	cover	fixed	and	variable	expenses	of	the	business.Therefore,	the	concept	of	break-even	point	is	as	follows:Profit	when	Revenue	>	Total	Variable	Cost	+	Total	Fixed	CostBreak-even	point	when	Revenue	=	Total	Variable	Cost	+	Total	Fixed	CostLoss	when	Revenue	<	Total
Variable	Cost	+	Total	Fixed	CostSensitivity	AnalysisBreak-even	analysis	is	often	a	component	of	sensitivity	analysis	and	scenario	analysis	performed	in	financial	modeling.	Using	Goal	Seek	in	Excel,	an	analyst	can	backsolvehow	many	units	need	to	be	sold,	at	what	price,	and	at	what	costto	break	even.Factors	that	Increase	a	Companys	Break-Even
PointIt	is	important	to	calculate	a	companys	break-even	point	in	order	to	know	the	minimum	target	to	cover	production	expenses.	However,	there	are	times	when	the	break-even	point	increases	or	decreases,	depending	on	certain	of	the	following	factors:1.	Increase	in	customer	salesWhen	there	is	an	increase	in	customer	sales,	it	means	that	there	is
higher	demand.	A	company	then	needs	to	produce	more	of	its	products	to	meet	this	new	demand	which,	in	turn,	raises	the	break-even	point	in	order	to	cover	the	extra	expenses.2.	Increase	in	production	costsThe	hard	part	of	running	a	business	is	when	customer	sales	or	product	demand	remains	the	same	while	the	price	of	variable	costs	increases,
such	as	the	price	of	raw	materials.	When	that	happens,	the	break-even	point	also	goes	up	because	of	the	additional	expense.	Aside	from	production	costs,	other	costs	that	may	increase	include	rent	for	a	warehouse,	increases	in	salaries	for	employees,	or	higher	utility	rates.3.	Equipment	repairIn	cases	where	the	production	line	falters,	or	a	part	of	the
assembly	line	breaks	down,	the	break-even	point	increases	since	the	target	number	of	units	is	not	produced	within	the	desired	time	frame.	Equipment	failures	also	mean	higher	operational	costs	and,	therefore,	a	higher	break-even.How	to	reduce	the	break-even	pointIn	order	for	a	business	to	generate	higher	profits,	the	break-even	point	must	be
lowered.	Here	are	common	ways	of	reducing	it:1.	Raise	product	pricesThis	is	something	that	not	all	business	owners	want	to	do	without	hesitation,	fearful	that	it	may	make	them	lose	some	customers.2.	OutsourcingProfitability	may	be	increased	when	a	business	opts	foroutsourcing,	which	can	help	reduce	manufacturing	costs	when	production	volume
increases.Every	company	is	in	business	to	make	some	type	of	profit.	However,	understanding	the	break-even	number	of	units	is	critical	because	it	enables	a	company	to	determine	the	number	of	units	it	needs	to	sell	to	cover	all	of	the	expenses	its	accrued	during	the	process	of	creating	and	selling	goods	or	services.Once	the	break-even	number	of	units
is	determined,	the	company	then	knows	what	sales	targetit	needs	to	set	in	order	to	generate	profit	and	reach	the	companys	financial	goals.Additional	ResourcesHow	the	3	Financial	Statements	are	LinkedCost	Behavior	AnalysisAnalysis	of	Financial	StatementsShutdown	PointSee	all	accounting	resources	Fixed	expenses:These	are	expenses	that	do	not
change	with	production	of	units	or	provision	of	services	to	customers.	You	need	to	enter	in	this	field	the	total	fixed	expenses	for	the	period	for	which	you	are	calculating	break-even	point.	For	example	if	your	monthly	and	annual	fixed	expenses	are	$500	and	$6,000	respectively	and	you	are	calculating	the	break-even	point	for	the	next	month,	you	need
to	use	the	amount	of	$500	as	the	fixed	expenses.Variable	expenses	per	unit:Variable	expenses	vary	with	a	change	in	producing	and	selling	activities.	Fill	this	field	with	the	variable	expenses	that	you	incur	to	manufacture	and	sell	a	single	unit	of	product.Sale	price	per	unit:The	price	at	which	a	single	unit	is	sold	in	the	market.Outputs	to	be
generated:Break-even	point	in	dollars:This	output	tells	the	dollar	sales	needed	to	break-even.Break-even	point	in	units:This	output	tells	the	number	of	units	to	be	sold	to	break-even.	The	BEP	calculator	first	calculates	the	break-even	point	in	sales	by	using	the	basic	BEP	formula	and	then	divides	the	BEP	sales	by	the	sale	price	per	unit	to	find	the	BEP	in
units.	What	is	the	Break-Even	Analysis	Formula?The	formula	for	break-even	analysis	is	as	follows:Break-Even	Quantity	=	Fixed	Costs	/	(Sales	Price	per	Unit	Variable	Cost	Per	Unit)where:Fixed	Costs	are	costs	that	do	not	change	with	varying	output	(e.g.,	salary,	rent,	building	machinery)Sales	Price	per	Unit	is	the	selling	price	per	unitVariable	Cost	per
Unit	is	the	variable	cost	incurred	to	create	a	unitIt	is	also	helpful	to	note	that	the	sales	price	per	unit	minus	variable	cost	per	unit	is	the	contribution	margin	per	unit.	For	example,	if	a	books	selling	price	is	$100	and	its	variable	costs	are	$5	to	make	the	book,	$95	is	the	contribution	margin	per	unit	and	contributes	to	offsetting	the	fixed	costs.Break-
Even	Analysis	ExampleColin	is	the	managerial	accountant	in	charge	of	Company	A,	which	sells	water	bottles.	He	previously	determined	that	the	fixed	costs	of	Company	A	consist	of	property	taxes,	a	lease,	and	executive	salaries,	which	add	up	to	$100,000.	The	variable	cost	associated	with	producing	one	water	bottle	is	$2	per	unit.	The	water	bottle	is
sold	at	a	premium	price	of	$12.	To	determine	the	break-even	point	of	Company	As	premium	water	bottle:Break	Even	Quantity	=	$100,000	/	($12	$2)	=	10,000Therefore,	given	the	fixed	costs,	variable	costs,	and	selling	price	of	the	water	bottles,	Company	A	would	need	to	sell	10,000	units	of	water	bottles	to	break	even.For	more	information	about
variable	costs,	check	out	the	following	video:	The	graphical	representation	of	unit	sales	and	dollar	sales	needed	to	break	even	is	referred	to	as	the	break-even	chart	or	cost-volume-profit	(CVP)	graph.	Below	is	the	CVP	graph	of	the	example	above:Explanation:The	number	of	units	is	on	the	X-axis	(horizontal)	and	the	dollar	amount	is	on	the	Y-axis
(vertical).The	red	line	represents	the	total	fixed	costs	of	$100,000.The	blue	line	represents	revenue	per	unit	sold.	For	example,	selling	10,000	units	would	generate	10,000	x	$12	=	$120,000	in	revenue.The	yellow	line	represents	total	costs	(fixed	and	variable	costs).	For	example,	if	the	company	sells	0	units,	then	the	company	would	incur	$0	in	variable
costs	but	$100,000	in	fixed	costs	for	total	costs	of	$100,000.	If	the	company	sells	10,000	units,	the	company	would	incur	10,000	x	$2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs	for	total	costs	of	$120,000.The	break	even	point	is	at	10,000	units.	At	this	point,	revenue	would	be	10,000	x	$12	=	$120,000	and	costs	would	be	10,000	x	2	=
$20,000	in	variable	costs	and	$100,000	in	fixed	costs.When	the	number	of	units	exceeds	10,000,	the	company	would	be	making	a	profit	on	the	units	sold.	Note	that	the	blue	revenue	line	is	greater	than	the	yellow	total	costs	line	after	10,000	units	are	produced.	Likewise,	if	the	number	of	units	is	below	10,000,	the	company	would	be	incurring	a	loss.
From	0-9,999	units,	the	total	costs	line	is	above	the	revenue	line.Free	Cost-Volume-Profit	Analysis	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!Download	the	Free	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!	As	illustrated	in	the	graph	above,	the	point	at
which	total	fixed	and	variable	costs	are	equal	to	total	revenues	is	known	as	the	break-even	point.	At	the	break-even	point,	a	business	does	not	make	a	profit	or	loss.	Therefore,	the	break-even	point	is	often	referred	to	as	the	no-profit	or	no-loss	point.The	break-even	analysis	is	important	to	business	owners	and	managers	in	determining	how	many	units
(or	revenues)	are	needed	to	cover	fixed	and	variable	expenses	of	the	business.Therefore,	the	concept	of	break-even	point	is	as	follows:Profit	when	Revenue	>	Total	Variable	Cost	+	Total	Fixed	CostBreak-even	point	when	Revenue	=	Total	Variable	Cost	+	Total	Fixed	CostLoss	when	Revenue	<	Total	Variable	Cost	+	Total	Fixed	CostSensitivity
AnalysisBreak-even	analysis	is	often	a	component	of	sensitivity	analysis	and	scenario	analysis	performed	in	financial	modeling.	Using	Goal	Seek	in	Excel,	an	analyst	can	backsolvehow	many	units	need	to	be	sold,	at	what	price,	and	at	what	costto	break	even.Factors	that	Increase	a	Companys	Break-Even	PointIt	is	important	to	calculate	a	companys
break-even	point	in	order	to	know	the	minimum	target	to	cover	production	expenses.	However,	there	are	times	when	the	break-even	point	increases	or	decreases,	depending	on	certain	of	the	following	factors:1.	Increase	in	customer	salesWhen	there	is	an	increase	in	customer	sales,	it	means	that	there	is	higher	demand.	A	company	then	needs	to
produce	more	of	its	products	to	meet	this	new	demand	which,	in	turn,	raises	the	break-even	point	in	order	to	cover	the	extra	expenses.2.	Increase	in	production	costsThe	hard	part	of	running	a	business	is	when	customer	sales	or	product	demand	remains	the	same	while	the	price	of	variable	costs	increases,	such	as	the	price	of	raw	materials.	When
that	happens,	the	break-even	point	also	goes	up	because	of	the	additional	expense.	Aside	from	production	costs,	other	costs	that	may	increase	include	rent	for	a	warehouse,	increases	in	salaries	for	employees,	or	higher	utility	rates.3.	Equipment	repairIn	cases	where	the	production	line	falters,	or	a	part	of	the	assembly	line	breaks	down,	the	break-
even	point	increases	since	the	target	number	of	units	is	not	produced	within	the	desired	time	frame.	Equipment	failures	also	mean	higher	operational	costs	and,	therefore,	a	higher	break-even.How	to	reduce	the	break-even	pointIn	order	for	a	business	to	generate	higher	profits,	the	break-even	point	must	be	lowered.	Here	are	common	ways	of
reducing	it:1.	Raise	product	pricesThis	is	something	that	not	all	business	owners	want	to	do	without	hesitation,	fearful	that	it	may	make	them	lose	some	customers.2.	OutsourcingProfitability	may	be	increased	when	a	business	opts	foroutsourcing,	which	can	help	reduce	manufacturing	costs	when	production	volume	increases.Every	company	is	in
business	to	make	some	type	of	profit.	However,	understanding	the	break-even	number	of	units	is	critical	because	it	enables	a	company	to	determine	the	number	of	units	it	needs	to	sell	to	cover	all	of	the	expenses	its	accrued	during	the	process	of	creating	and	selling	goods	or	services.Once	the	break-even	number	of	units	is	determined,	the	company
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2024Start	your	learning	journey	now!LearnPracticeImproveSucceedEquality	of	costs	and	revenuesThis	article	is	about	break-evens	in	economics.	For	other	uses,	see	Break-even	(disambiguation).The	Break-Even	PointThe	break-even	point	(BEP)	in	economics,	businessand	specifically	cost	accountingis	the	point	at	which	total	cost	and	total	revenue	are
equal,	i.e.	"even".	In	layman's	terms,	after	all	costs	are	paid	for	there	is	neither	profit	nor	loss.[1][2]	In	economics	specifically,	the	term	has	a	broader	definition;	even	if	there	is	no	net	loss	or	gain,	and	one	has	"broken	even",	opportunity	costs	have	been	covered	and	capital	has	received	the	risk-adjusted,	expected	return.	The	break-even	analysis	was
developed	by	Karl	Bcher	and	Johann	Friedrich	Schr.The	break-even	point	(BEP)	or	break-even	level	represents	the	sales	amountin	either	unit	(quantity)	or	revenue	(sales)	termsthat	is	required	to	cover	total	costs,	consisting	of	both	fixed	and	variable	costs	to	the	company.	Total	profit	at	the	break-even	point	is	zero.	It	is	only	possible	for	a	firm	to	pass
the	break-even	point	if	the	dollar	value	of	sales	is	higher	than	the	variable	cost	per	unit.	This	means	that	the	selling	price	of	the	goods	must	be	higher	than	what	the	company	paid	for	the	good	or	its	components	for	them	to	cover	the	initial	price	they	paid	(variable	and	fixed	costs).	Once	they	surpass	the	break-even	price,	the	company	can	start	making
a	profit.The	break-even	point	is	one	of	the	most	commonly	used	concepts	of	financial	analysis,	and	is	not	only	limited	to	economic	use,	but	can	also	be	used	by	entrepreneurs,	accountants,	financial	planners,	managers	and	even	marketers.	Break-even	points	can	be	useful	to	all	avenues	of	a	business,	as	it	allows	employees	to	identify	required	outputs
and	work	towards	meeting	these.The	break-even	value	is	not	a	generic	value	as	such	and	will	vary	dependent	on	the	individual	business.	Some	businesses	may	have	a	higher	or	lower	break-even	point.	However,	it	is	important	that	each	business	develop	a	break-even	point	calculation,	as	this	will	enable	them	to	see	the	number	of	units	they	need	to	sell
to	cover	their	variable	costs.	Each	sale	will	also	make	a	contribution	to	the	payment	of	fixed	costs	as	well.For	example,	a	business	that	sells	tables	needs	to	make	annual	sales	of	200	tables	to	break-even.	At	present	the	company	is	selling	fewer	than	200	tables	and	is	therefore	operating	at	a	loss.	As	a	business,	they	must	consider	increasing	the
number	of	tables	they	sell	annually	in	order	to	make	enough	money	to	pay	fixed	and	variable	costs.If	the	business	does	not	think	that	they	can	sell	the	required	number	of	units,	they	could	consider	the	following	options:1.	Reduce	the	fixed	costs.	This	could	be	done	through	a	number	or	negotiations,	such	as	reductions	in	rent	payments,	or	through
better	management	of	bills	or	other	costs.2.	Reduce	the	variable	costs,	(which	could	be	done	by	finding	a	new	supplier	that	sells	tables	for	less).Either	option	can	reduce	the	break-even	point	so	the	business	need	not	sell	as	many	tables	as	before,	and	could	still	pay	fixed	costs.The	main	purpose	of	break-even	analysis	is	to	determine	the	minimum
output	that	must	be	exceeded	for	a	business	to	profit.	It	also	is	a	rough	indicator	of	the	earnings	impact	of	a	marketing	activity.	A	firm	can	analyze	ideal	output	levels	to	be	knowledgeable	on	the	amount	of	sales	and	revenue	that	would	meet	and	surpass	the	break-even	point.	If	a	business	doesn't	meet	this	level,	it	often	becomes	difficult	to	continue
operation.The	break-even	point	is	one	of	the	simplest,	yet	least-used	analytical	tools.	Identifying	a	break-even	point	helps	provide	a	dynamic	view	of	the	relationships	between	sales,	costs,	and	profits.	For	example,	expressing	break-even	sales	as	a	percentage	of	actual	sales	can	help	managers	understand	when	to	expect	to	break	even	(by	linking	the
percent	to	when	in	the	week	or	month	this	percent	of	sales	might	occur).The	break-even	point	is	a	special	case	of	Target	Income	Sales,	where	Target	Income	is	0	(breaking	even).	This	is	very	important	for	financial	analysis.	Any	sales	made	past	the	breakeven	point	can	be	considered	profit	(after	all	initial	costs	have	been	paid)Break-even	analysis	can
also	provide	data	that	can	be	useful	to	the	marketing	department	of	a	business	as	well,	as	it	provides	financial	goals	that	the	business	can	pass	on	to	marketers	so	they	can	try	to	increase	sales.Break-even	analysis	can	also	help	businesses	see	where	they	could	re-structure	or	cut	costs	for	optimum	results.	This	may	help	the	business	become	more
effective	and	achieve	higher	returns.	In	many	cases,	if	an	entrepreneurial	venture	is	seeking	to	get	off	of	the	ground	and	enter	into	a	market	it	is	advised	that	they	formulate	a	break-even	analysis	to	suggest	to	potential	financial	backers	that	the	business	has	the	potential	to	be	viable	and	at	what	points.In	the	linear	Cost-Volume-Profit	Analysis	model
(where	marginal	costs	and	marginal	revenues	are	constant,	among	other	assumptions),	the	break-even	point	(BEP)	(in	terms	of	Unit	Sales	(X))	can	be	directly	computed	in	terms	of	Total	Revenue	(TR)	and	Total	Costs	(TC)	as:	TR	=	TC	P	X	=	TFC	+	V	X	P	X	V	X	=	TFC	(	P	V	)	X	=	TFC	X	=	TFC	P	V	{\displaystyle	{\begin{aligned}{\text{TR}}&=
{\text{TC}}\\P\times	X&={\text{TFC}}+V\times	X\\P\times	X-V\times	X&={\text{TFC}}\\\left(P-V\right)\times	X&={\text{TFC}}\\X&={\frac	{\text{TFC}}{P-V}}\end{aligned}}}	where:TFC	is	Total	Fixed	Costs,P	is	Unit	Sale	Price,	andV	is	Unit	Variable	Cost.The	Break-Even	Point	can	alternatively	be	computed	as	the	point	where	Contribution
equals	Fixed	Costs.The	quantity,	(	P	V	)	{\displaystyle	\left(P-V\right)}	,	is	of	interest	in	its	own	right,	and	is	called	the	Unit	Contribution	Margin	(C):	it	is	the	marginal	profit	per	unit,	or	alternatively	the	portion	of	each	sale	that	contributes	to	Fixed	Costs.	Thus	the	break-even	point	can	be	more	simply	computed	as	the	point	where	Total	Contribution	=
Total	Fixed	Cost:	Total	Contribution	=	Total	Fixed	Costs	Unit	Contribution	Number	of	Units	=	Total	Fixed	Costs	Number	of	Units	=	Total	Fixed	Costs	Unit	Contribution	{\displaystyle	{\begin{aligned}{\text{Total	Contribution}}&={\text{Total	Fixed	Costs}}\\{\text{Unit	Contribution}}\times	{\text{Number	of	Units}}&={\text{Total	Fixed	Costs}}\\
{\text{Number	of	Units}}&={\frac	{\text{Total	Fixed	Costs}}{\text{Unit	Contribution}}}\end{aligned}}}	To	calculate	the	break-even	point	in	terms	of	revenue	(a.k.a.	currency	units,	a.k.a.	sales	proceeds)	instead	of	Unit	Sales	(X),	the	above	calculation	can	be	multiplied	by	Price,	or,	equivalently,	the	Contribution	Margin	Ratio	(Unit	Contribution
Margin	over	Price)	can	be	calculated:	Break-even(in	Sales)	=	Fixed	Costs	C	/	P	.	{\displaystyle	{\text{Break-even(in	Sales)}}={\frac	{\text{Fixed	Costs}}{C/P}}.}	R=C,Where	R	is	revenue	generated,C	is	cost	incurred	i.e.	Fixed	costs	+	Variable	Costsor	Q	P	=	T	F	C	+	Q	V	C	(Price	per	unit)	Q	P	Q	V	C	=	T	F	C	Q	(	P	V	C	)	=	T	F	C	{\displaystyle
{\begin{aligned}Q\times	P&=\mathrm	{TFC}	+Q\times	VC&{\text{(Price	per	unit)}}\\Q\times	P-Q\times	\mathrm	{VC}	&=\mathrm	{TFC}	\\Q\times	(P-\mathrm	{VC}	)&=\mathrm	{TFC}	\\\end{aligned}}}	or,Break	Even	AnalysisQ	=	TFC/c/s	ratio	=	Break	EvenMargin	of	safety	represents	the	strength	of	the	business.	It	enables	a	business	to	know
what	is	the	exact	amount	it	has	gained	or	lost	and	whether	they	are	over	or	below	the	break-even	point.[3]	In	break-even	analysis,	margin	of	safety	is	the	extent	by	which	actual	or	projected	sales	exceed	the	break-even	sales.[4]Margin	of	safety	=	(current	output	-	breakeven	output)Margin	of	safety%	=	(current	output	-	breakeven	output)/current
output	100When	dealing	with	budgets	you	would	instead	replace	"Current	output"	with	"Budgeted	output."If	P/V	ratio	is	given	then	profit/PV	ratio.By	inserting	different	prices	into	the	formula,	you	will	obtain	a	number	of	break-even	points,	one	for	each	possible	price	charged.	If	the	firm	changes	the	selling	price	for	its	product,	from	$2	to	$2.30,	in	the
example	above,	then	it	would	have	to	sell	only	1000/(2.3	-	0.6)=	589	units	to	break	even,	rather	than	715.To	make	the	results	clearer,	they	can	be	graphed.	To	do	this,	draw	the	total	cost	curve	(TC	in	the	diagram),	which	shows	the	total	cost	associated	with	each	possible	level	of	output,	the	fixed	cost	curve	(FC)	which	shows	the	costs	that	do	not	vary
with	output	level,	and	finally	the	various	total	revenue	lines	(R1,	R2,	and	R3),	which	show	the	total	amount	of	revenue	received	at	each	output	level,	given	the	price	you	will	be	charging.The	break-even	points	(A,B,C)	are	the	points	of	intersection	between	the	total	cost	curve	(TC)	and	a	total	revenue	curve	(R1,	R2,	or	R3).	The	break-even	quantity	at
each	selling	price	can	be	read	off	the	horizontal	axis	and	the	break-even	price	at	each	selling	price	can	be	read	off	the	vertical	axis.	The	total	cost,	total	revenue,	and	fixed	cost	curves	can	each	be	constructed	with	simple	formula.	For	example,	the	total	revenue	curve	is	simply	the	product	of	selling	price	times	quantity	for	each	output	quantity.	The
data	used	in	these	formula	come	either	from	accounting	records	or	from	various	estimation	techniques	such	as	regression	analysis.The	Break-even	analysis	is	only	a	supply-side	(i.e.,	costs	only)	analysis,	as	it	tells	you	nothing	about	what	sales	are	actually	likely	to	be	for	the	product	at	these	various	prices.It	assumes	that	fixed	costs	(FC)	are	constant.
Although	this	is	true	in	the	short	run,	an	increase	in	the	scale	of	production	is	likely	to	cause	fixed	costs	to	rise.It	assumes	average	variable	costs	are	constant	per	unit	of	output,	at	least	in	the	range	of	likely	quantities	of	sales.	(i.e.,	linearity).It	assumes	that	the	quantity	of	goods	produced	is	equal	to	the	quantity	of	goods	sold	(i.e.,	there	is	no	change	in
the	quantity	of	goods	held	in	inventory	at	the	beginning	of	the	period	and	the	quantity	of	goods	held	in	inventory	at	the	end	of	the	period).In	multi-product	companies,	it	assumes	that	the	relative	proportions	of	each	product	sold	and	produced	are	constant	(i.e.,	the	sales	mix	is	constant).Cost-plus	pricingPricingContribution	margin^	Levine,	David;
Michele	Boldrin	(2008-09-07).	Against	Intellectual	Monopoly.	Cambridge	University	Press.	p.312.	ISBN978-0-521-87928-6.^	Tapang,	Bienvenido,	and	Lorelei	Mendoza.	Introductory	Economics.	University	of	the	Philippines,	Baguio.^	The	Margin	of	Safety	in	MAAW,	Chapter	11.^	Margin	of	Safety	Definition	|	Formula	|	Calculation	|	Example	D.;	Irons,
R.;	Harrison,	S.;	Herbohn,	J.;	and	P.	Rowland,	2002,	Capital	Budgeting:	Financial	Appraisal	of	Investment	Projects.	Cambridge	University	Press.	pp.150.Dean,	Joel.	"Cost	structures	of	enterprises	and	break-even	charts."	The	American	Economic	Review	(1948):	153-164.Patrick,	A.	W.	"Some	Observations	on	the	Break-Even	Chart."	Accounting	Review
(1958):	573-580.Tucker,	Spencer	A.	The	break-even	system:	A	tool	for	profit	planning.	Prentice-Hall,	1963.Tucker,	Spencer	A.	Profit	planning	decisions	with	the	break-even	system.	Thomond	Press:	distribution	to	the	book	trade	in	the	US	by	Van	Nostrand	Reinhold,	1980.Wikimedia	Commons	has	media	related	to	Break-even	charts.Example	of	Break
Even	Point	using	Microsoft	ExcelMASB	Official	WebsiteBreakeven	Point	CalculatorA	Simple	Breakeven	Point	CalculatorRetrieved	from	"	>	Management	Accounting	>	Cost-Volume-Profit	(CVP)	Analysis	Checked	for	updates,	April	2022.	Accountingverse.com	The	determination	of	the	break-even	point	is	one	of	the	applications	of	cost-volume-profit
(CVP)	analysis.	In	this	lesson,	you	will	learn	how	to	calculate	the	break-even	point	and	appreciate	how	it	works.Break-even	point	refers	to	the	level	of	activity	or	sales	that	will	yield	to	zero	profit.	In	other	words,	it	is	the	level	at	which	the	business	makes	no	gain	or	loss.If	the	business	operates	above	the	break-even	point,	it	makes	profits.	If	it	sells
below,	then	it	incurs	in	losses.	The	break-even	point	is	the	point	where	"Sales"	is	equal	to	"Total	Costs"	(where:	Total	costs	=	Total	variable	costs	+	Total	fixed	costs)The	break-even	point	is	useful	to	managers	in	profit-planning.	Break-Even	Point	FormulaBreak-even	point	(BEP)	can	be	determined	in	terms	of	number	of	units	or	dollar	amount.	The
formula	for	BEP	in	units	is:	BEP	in	Units	=	Total	Fixed	Costs	CM	per	Unit	In	computing	for	the	BEP	in	dollars,	contribution	margin	ratio	is	used	instead	of	contribution	margin	per	unit.	BEP	in	Dollars	=	Total	Fixed	Costs	CM	Ratio	To	illustrate	the	concepts	of	break-even	point,	consider	the	following	example.	The	following	data	summarizes	the
operations	of	Company	ABC.	Per	Unit	Total	Sales	(5,000	units)	$15	$75,000	Less:	Variable	Costs	5	25,000	Contribution	Margin	$10	$50,000	Less:	Fixed	Costs	20,000	Operating	Income	$30,000	BEP	in	Units	=	Total	Fixed	Costs	=	$20,000	CM	per	Unit	$10	BEP	in	Units	=	2,000	units	Analysis:	At	2,000	units,	the	company	will	make	zero	operating
income.	If	the	company	sells	more	than	2,000	units,	it	will	make	profit.	Otherwise,	it	will	incur	in	losses.	To	prove,	consider	the	following	scenarios.At	2,000	units	(break-even	point)	Per	Unit	Total	Sales	(2,000	units)	$15	$30,000	Less:	Variable	Costs	5	10,000	Contribution	Margin	$10	$20,000	Less:	Fixed	Costs	20,000	Operating	Income	(Loss)	$	0	At
2,001	units	(above	break-even	point)	Per	Unit	Total	Sales	(2,001	units)	$15	$30,015	Less:	Variable	Costs	5	10,005	Contribution	Margin	$10	$20,010	Less:	Fixed	Costs	20,000	Operating	Income	(Loss)	$	10	At	1,999	units	(below	break-even	point)	Per	Unit	Total	Sales	(1,999	units)	$15	$29,985	Less:	Variable	Costs	5	9,995	Contribution	Margin	$10
$19,990	Less:	Fixed	Costs	20,000	Operating	Income	(Loss)	($	10)	The	BEP	in	dollars	is	$30,000	as	shown	in	the	computation	at	2,000	units.	Alternatively,	it	can	be	computed	as	total	fixed	costs	divided	by	contribution	margin	ratio.	The	contribution	margin	ratio	is	66.67%	($10/$15).	Hence,	fixed	costs	of	$20,000	divided	by	CM	ratio	of	66.67%	results
in	the	BEP	in	dollars	of	$30,000.	Key	TakeawaysBreak-even	point	is	the	level	of	sales	activity	at	which	the	business	makes	zero	profit	(no	gain,	no	loss).	The	most	common	computations	are:For	break-even	point	in	number	of	units:	total	fixed	costs	divided	by	contribution	margin	per	unit.For	break-even	point	in	dollar	amount:	total	fixed	costs	divided
by	contribution	margin	ratio.	Web	link	Break-even	point:	Formula	and	analysis	APA	formatBreak-even	point:	Formula	and	analysis	(2022).	Accountingverse.	Next	LessonTarget	Profit	(Desired	Income)Previous	LessonChapter	OutlineCost-Volume-Profit	(CVP)	Analysis	-	EmmaI	was	struggling	to	grasp	the	concept	of	accounting	cycle	through	my	text
book	and	class	room	lectures.	However,	after	reading	accounting	for	management	notes,	everything	became	much	clear.-	JanniferExplanations,	exercises,	problems,	quizzes	and	calculators	all	together	make	up	a	complete	learning	combo	for	accounting	students.-	Berdia	MillerGot	A+	grade	in	managerial	accounting	assignments	by	solely	depending
on	the	tutorials	provided	in	this	website.	-	ArjunThe	site	is	very	easy	to	navigate.	The	content	provided	here	has	great	value	for	students.	Keep	up	the	good	work.	How	can	financial	brands	set	themselves	apart	through	visual	storytelling?	Our	experts	explainhow.Learn	MoreThe	Motorsport	Images	Collections	captures	events	from	1895	to	todays	most
recentcoverage.Discover	The	CollectionCurated,	compelling,	and	worth	your	time.	Explore	our	latest	gallery	of	EditorsPicks.Browse	Editors'	FavoritesHow	can	financial	brands	set	themselves	apart	through	visual	storytelling?	Our	experts	explainhow.Learn	MoreThe	Motorsport	Images	Collections	captures	events	from	1895	to	todays	most
recentcoverage.Discover	The	CollectionCurated,	compelling,	and	worth	your	time.	Explore	our	latest	gallery	of	EditorsPicks.Browse	Editors'	FavoritesHow	can	financial	brands	set	themselves	apart	through	visual	storytelling?	Our	experts	explainhow.Learn	MoreThe	Motorsport	Images	Collections	captures	events	from	1895	to	todays	most
recentcoverage.Discover	The	CollectionCurated,	compelling,	and	worth	your	time.	Explore	our	latest	gallery	of	EditorsPicks.Browse	Editors'	Favorites	What	is	the	Break-Even	Analysis	Formula?The	formula	for	break-even	analysis	is	as	follows:Break-Even	Quantity	=	Fixed	Costs	/	(Sales	Price	per	Unit	Variable	Cost	Per	Unit)where:Fixed	Costs	are
costs	that	do	not	change	with	varying	output	(e.g.,	salary,	rent,	building	machinery)Sales	Price	per	Unit	is	the	selling	price	per	unitVariable	Cost	per	Unit	is	the	variable	cost	incurred	to	create	a	unitIt	is	also	helpful	to	note	that	the	sales	price	per	unit	minus	variable	cost	per	unit	is	the	contribution	margin	per	unit.	For	example,	if	a	books	selling	price
is	$100	and	its	variable	costs	are	$5	to	make	the	book,	$95	is	the	contribution	margin	per	unit	and	contributes	to	offsetting	the	fixed	costs.Break-Even	Analysis	ExampleColin	is	the	managerial	accountant	in	charge	of	Company	A,	which	sells	water	bottles.	He	previously	determined	that	the	fixed	costs	of	Company	A	consist	of	property	taxes,	a	lease,
and	executive	salaries,	which	add	up	to	$100,000.	The	variable	cost	associated	with	producing	one	water	bottle	is	$2	per	unit.	The	water	bottle	is	sold	at	a	premium	price	of	$12.	To	determine	the	break-even	point	of	Company	As	premium	water	bottle:Break	Even	Quantity	=	$100,000	/	($12	$2)	=	10,000Therefore,	given	the	fixed	costs,	variable	costs,
and	selling	price	of	the	water	bottles,	Company	A	would	need	to	sell	10,000	units	of	water	bottles	to	break	even.For	more	information	about	variable	costs,	check	out	the	following	video:	The	graphical	representation	of	unit	sales	and	dollar	sales	needed	to	break	even	is	referred	to	as	the	break-even	chart	or	cost-volume-profit	(CVP)	graph.	Below	is	the
CVP	graph	of	the	example	above:Explanation:The	number	of	units	is	on	the	X-axis	(horizontal)	and	the	dollar	amount	is	on	the	Y-axis	(vertical).The	red	line	represents	the	total	fixed	costs	of	$100,000.The	blue	line	represents	revenue	per	unit	sold.	For	example,	selling	10,000	units	would	generate	10,000	x	$12	=	$120,000	in	revenue.The	yellow	line
represents	total	costs	(fixed	and	variable	costs).	For	example,	if	the	company	sells	0	units,	then	the	company	would	incur	$0	in	variable	costs	but	$100,000	in	fixed	costs	for	total	costs	of	$100,000.	If	the	company	sells	10,000	units,	the	company	would	incur	10,000	x	$2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs	for	total	costs	of
$120,000.The	break	even	point	is	at	10,000	units.	At	this	point,	revenue	would	be	10,000	x	$12	=	$120,000	and	costs	would	be	10,000	x	2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs.When	the	number	of	units	exceeds	10,000,	the	company	would	be	making	a	profit	on	the	units	sold.	Note	that	the	blue	revenue	line	is	greater	than	the	yellow
total	costs	line	after	10,000	units	are	produced.	Likewise,	if	the	number	of	units	is	below	10,000,	the	company	would	be	incurring	a	loss.	From	0-9,999	units,	the	total	costs	line	is	above	the	revenue	line.Free	Cost-Volume-Profit	Analysis	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!Download	the	Free
TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!	As	illustrated	in	the	graph	above,	the	point	at	which	total	fixed	and	variable	costs	are	equal	to	total	revenues	is	known	as	the	break-even	point.	At	the	break-even	point,	a	business	does	not	make	a	profit	or	loss.	Therefore,	the	break-even	point	is	often	referred
to	as	the	no-profit	or	no-loss	point.The	break-even	analysis	is	important	to	business	owners	and	managers	in	determining	how	many	units	(or	revenues)	are	needed	to	cover	fixed	and	variable	expenses	of	the	business.Therefore,	the	concept	of	break-even	point	is	as	follows:Profit	when	Revenue	>	Total	Variable	Cost	+	Total	Fixed	CostBreak-even	point
when	Revenue	=	Total	Variable	Cost	+	Total	Fixed	CostLoss	when	Revenue	<	Total	Variable	Cost	+	Total	Fixed	CostSensitivity	AnalysisBreak-even	analysis	is	often	a	component	of	sensitivity	analysis	and	scenario	analysis	performed	in	financial	modeling.	Using	Goal	Seek	in	Excel,	an	analyst	can	backsolvehow	many	units	need	to	be	sold,	at	what
price,	and	at	what	costto	break	even.Factors	that	Increase	a	Companys	Break-Even	PointIt	is	important	to	calculate	a	companys	break-even	point	in	order	to	know	the	minimum	target	to	cover	production	expenses.	However,	there	are	times	when	the	break-even	point	increases	or	decreases,	depending	on	certain	of	the	following	factors:1.	Increase	in
customer	salesWhen	there	is	an	increase	in	customer	sales,	it	means	that	there	is	higher	demand.	A	company	then	needs	to	produce	more	of	its	products	to	meet	this	new	demand	which,	in	turn,	raises	the	break-even	point	in	order	to	cover	the	extra	expenses.2.	Increase	in	production	costsThe	hard	part	of	running	a	business	is	when	customer	sales	or
product	demand	remains	the	same	while	the	price	of	variable	costs	increases,	such	as	the	price	of	raw	materials.	When	that	happens,	the	break-even	point	also	goes	up	because	of	the	additional	expense.	Aside	from	production	costs,	other	costs	that	may	increase	include	rent	for	a	warehouse,	increases	in	salaries	for	employees,	or	higher	utility
rates.3.	Equipment	repairIn	cases	where	the	production	line	falters,	or	a	part	of	the	assembly	line	breaks	down,	the	break-even	point	increases	since	the	target	number	of	units	is	not	produced	within	the	desired	time	frame.	Equipment	failures	also	mean	higher	operational	costs	and,	therefore,	a	higher	break-even.How	to	reduce	the	break-even
pointIn	order	for	a	business	to	generate	higher	profits,	the	break-even	point	must	be	lowered.	Here	are	common	ways	of	reducing	it:1.	Raise	product	pricesThis	is	something	that	not	all	business	owners	want	to	do	without	hesitation,	fearful	that	it	may	make	them	lose	some	customers.2.	OutsourcingProfitability	may	be	increased	when	a	business	opts
foroutsourcing,	which	can	help	reduce	manufacturing	costs	when	production	volume	increases.Every	company	is	in	business	to	make	some	type	of	profit.	However,	understanding	the	break-even	number	of	units	is	critical	because	it	enables	a	company	to	determine	the	number	of	units	it	needs	to	sell	to	cover	all	of	the	expenses	its	accrued	during	the
process	of	creating	and	selling	goods	or	services.Once	the	break-even	number	of	units	is	determined,	the	company	then	knows	what	sales	targetit	needs	to	set	in	order	to	generate	profit	and	reach	the	companys	financial	goals.Additional	ResourcesHow	the	3	Financial	Statements	are	LinkedCost	Behavior	AnalysisAnalysis	of	Financial
StatementsShutdown	PointSee	all	accounting	resources	What	is	the	Break-Even	Analysis	Formula?The	formula	for	break-even	analysis	is	as	follows:Break-Even	Quantity	=	Fixed	Costs	/	(Sales	Price	per	Unit	Variable	Cost	Per	Unit)where:Fixed	Costs	are	costs	that	do	not	change	with	varying	output	(e.g.,	salary,	rent,	building	machinery)Sales	Price	per
Unit	is	the	selling	price	per	unitVariable	Cost	per	Unit	is	the	variable	cost	incurred	to	create	a	unitIt	is	also	helpful	to	note	that	the	sales	price	per	unit	minus	variable	cost	per	unit	is	the	contribution	margin	per	unit.	For	example,	if	a	books	selling	price	is	$100	and	its	variable	costs	are	$5	to	make	the	book,	$95	is	the	contribution	margin	per	unit	and
contributes	to	offsetting	the	fixed	costs.Break-Even	Analysis	ExampleColin	is	the	managerial	accountant	in	charge	of	Company	A,	which	sells	water	bottles.	He	previously	determined	that	the	fixed	costs	of	Company	A	consist	of	property	taxes,	a	lease,	and	executive	salaries,	which	add	up	to	$100,000.	The	variable	cost	associated	with	producing	one
water	bottle	is	$2	per	unit.	The	water	bottle	is	sold	at	a	premium	price	of	$12.	To	determine	the	break-even	point	of	Company	As	premium	water	bottle:Break	Even	Quantity	=	$100,000	/	($12	$2)	=	10,000Therefore,	given	the	fixed	costs,	variable	costs,	and	selling	price	of	the	water	bottles,	Company	A	would	need	to	sell	10,000	units	of	water	bottles
to	break	even.For	more	information	about	variable	costs,	check	out	the	following	video:	The	graphical	representation	of	unit	sales	and	dollar	sales	needed	to	break	even	is	referred	to	as	the	break-even	chart	or	cost-volume-profit	(CVP)	graph.	Below	is	the	CVP	graph	of	the	example	above:Explanation:The	number	of	units	is	on	the	X-axis	(horizontal)
and	the	dollar	amount	is	on	the	Y-axis	(vertical).The	red	line	represents	the	total	fixed	costs	of	$100,000.The	blue	line	represents	revenue	per	unit	sold.	For	example,	selling	10,000	units	would	generate	10,000	x	$12	=	$120,000	in	revenue.The	yellow	line	represents	total	costs	(fixed	and	variable	costs).	For	example,	if	the	company	sells	0	units,	then
the	company	would	incur	$0	in	variable	costs	but	$100,000	in	fixed	costs	for	total	costs	of	$100,000.	If	the	company	sells	10,000	units,	the	company	would	incur	10,000	x	$2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs	for	total	costs	of	$120,000.The	break	even	point	is	at	10,000	units.	At	this	point,	revenue	would	be	10,000	x	$12	=
$120,000	and	costs	would	be	10,000	x	2	=	$20,000	in	variable	costs	and	$100,000	in	fixed	costs.When	the	number	of	units	exceeds	10,000,	the	company	would	be	making	a	profit	on	the	units	sold.	Note	that	the	blue	revenue	line	is	greater	than	the	yellow	total	costs	line	after	10,000	units	are	produced.	Likewise,	if	the	number	of	units	is	below	10,000,
the	company	would	be	incurring	a	loss.	From	0-9,999	units,	the	total	costs	line	is	above	the	revenue	line.Free	Cost-Volume-Profit	Analysis	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!Download	the	Free	TemplateEnter	your	name	and	email	in	the	form	below	and	download	the	free	template	now!	As
illustrated	in	the	graph	above,	the	point	at	which	total	fixed	and	variable	costs	are	equal	to	total	revenues	is	known	as	the	break-even	point.	At	the	break-even	point,	a	business	does	not	make	a	profit	or	loss.	Therefore,	the	break-even	point	is	often	referred	to	as	the	no-profit	or	no-loss	point.The	break-even	analysis	is	important	to	business	owners	and
managers	in	determining	how	many	units	(or	revenues)	are	needed	to	cover	fixed	and	variable	expenses	of	the	business.Therefore,	the	concept	of	break-even	point	is	as	follows:Profit	when	Revenue	>	Total	Variable	Cost	+	Total	Fixed	CostBreak-even	point	when	Revenue	=	Total	Variable	Cost	+	Total	Fixed	CostLoss	when	Revenue	<	Total	Variable
Cost	+	Total	Fixed	CostSensitivity	AnalysisBreak-even	analysis	is	often	a	component	of	sensitivity	analysis	and	scenario	analysis	performed	in	financial	modeling.	Using	Goal	Seek	in	Excel,	an	analyst	can	backsolvehow	many	units	need	to	be	sold,	at	what	price,	and	at	what	costto	break	even.Factors	that	Increase	a	Companys	Break-Even	PointIt	is
important	to	calculate	a	companys	break-even	point	in	order	to	know	the	minimum	target	to	cover	production	expenses.	However,	there	are	times	when	the	break-even	point	increases	or	decreases,	depending	on	certain	of	the	following	factors:1.	Increase	in	customer	salesWhen	there	is	an	increase	in	customer	sales,	it	means	that	there	is	higher
demand.	A	company	then	needs	to	produce	more	of	its	products	to	meet	this	new	demand	which,	in	turn,	raises	the	break-even	point	in	order	to	cover	the	extra	expenses.2.	Increase	in	production	costsThe	hard	part	of	running	a	business	is	when	customer	sales	or	product	demand	remains	the	same	while	the	price	of	variable	costs	increases,	such	as
the	price	of	raw	materials.	When	that	happens,	the	break-even	point	also	goes	up	because	of	the	additional	expense.	Aside	from	production	costs,	other	costs	that	may	increase	include	rent	for	a	warehouse,	increases	in	salaries	for	employees,	or	higher	utility	rates.3.	Equipment	repairIn	cases	where	the	production	line	falters,	or	a	part	of	the	assembly
line	breaks	down,	the	break-even	point	increases	since	the	target	number	of	units	is	not	produced	within	the	desired	time	frame.	Equipment	failures	also	mean	higher	operational	costs	and,	therefore,	a	higher	break-even.How	to	reduce	the	break-even	pointIn	order	for	a	business	to	generate	higher	profits,	the	break-even	point	must	be	lowered.	Here
are	common	ways	of	reducing	it:1.	Raise	product	pricesThis	is	something	that	not	all	business	owners	want	to	do	without	hesitation,	fearful	that	it	may	make	them	lose	some	customers.2.	OutsourcingProfitability	may	be	increased	when	a	business	opts	foroutsourcing,	which	can	help	reduce	manufacturing	costs	when	production	volume
increases.Every	company	is	in	business	to	make	some	type	of	profit.	However,	understanding	the	break-even	number	of	units	is	critical	because	it	enables	a	company	to	determine	the	number	of	units	it	needs	to	sell	to	cover	all	of	the	expenses	its	accrued	during	the	process	of	creating	and	selling	goods	or	services.Once	the	break-even	number	of	units
is	determined,	the	company	then	knows	what	sales	targetit	needs	to	set	in	order	to	generate	profit	and	reach	the	companys	financial	goals.Additional	ResourcesHow	the	3	Financial	Statements	are	LinkedCost	Behavior	AnalysisAnalysis	of	Financial	StatementsShutdown	PointSee	all	accounting	resources	
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